
Key Learning – to add numbers within 20 using part part whole model.     
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        Write it                         Draw it                   Partition it  

Complete the part part whole models for the equations.  Combine the parts to find the whole. 

 

 

  

 

 

 

  

 

 

  

 

 

  

 

 

12 + 4 = 

__ 

13 + 3 = 

__ 

11 + 6 = __ 

1 + 17 = __ 

10 



Circle the equation that is incorrect.  

15 + 4 = 19  

17 + 3 = 19 

11 + 3 = 14 

Explain how you know 

 
 
 

Deepening Task: 
addition using a part 
part whole model. 

Fill in the missing number  

 

 

10 + ___   = 12 

18 + ___  = 20 

3 + ____ = 15 

16 = 12 + ___ 

My answer is 17.  

I added 6 to the number I started 
with.  What was my number? 

________________ 

Where have I gone wrong?  

13 + 4= 16 

4 

13 
16 


